
Exercise 2.1-6

Enthalpy difference for the limiting cases of Schottky or Frenkel Defects

The equations for the concentration of the three point defects contain in parts the differnce of the formation
enthalpies of Schottky or Frenkel defects.

Calculate the ratio of the concentration of Schottky to Frenkel defects as a function of this enthalpy
difference.
Discuss the result. Show in in particular, how large the difference must be if 90% or 99%, resp., of the defects
are to be of one kind.
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http://www.tf.uni-kiel.de/matwis/amat/def_en/kap_2/exercise/s2_1_6.html
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